e T ¥ A A, B, C, D7 Y
Aol A& W, zx+ 2y + 2z 9] 277

@ 150° @ 160° ® 170° @ 180° @190°

S5 ~
/x=180°— (110° + 35°) = 35°
£y =180°— (50° + Zx +35°) = 180° — (85° 4 35°) = 60°
lz=Ix+ Ly =135°+60°=95°
SLx+ Ly4 L2 =35°+60°+95°=190°




o2 193 o] ADEF 9 WA
Yt AABC 9] ] o] Z-S of,
/(BAC 9] 27]=2?

® 30° @ 35° ® 40° @ 45° @ 50°

FB = FC °|2& /(FCB = D
50° ©]¥ /FCB = /BAC ©]
o2 /BAC=50°




N N
o2 1894 5.0ptBC = 5.0ptCD ©]
1, AB = 8cm, AC = 10cm, AD

7cm ¥ W, AE o] Zdo]E?

@ 5cm @ 5.4cm

@ 5.8cm ® 6cm

ws)

NN

3)5.6cm

ABx AD = AE x AC
8x7=AEx10
. AE=56




4. & 289 Y90 94 OC = 5cm , AB = 8cm € o, AOAM 9]
Yol & Fotofet,

AOAM oA AO = 5¢cm, AM = 4c¢m °|E2
OM = V52 —42 = 3(cm)

AOAM:4><3X%:6(cm2)




5.

the T804 9 O o A2 AB 9] A%
3717} 20° & wf, /ABT ] 27]=7

AW
T
I

@® 52.5° (@)55° ® 57.5° @ 60° ® 62.5°
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OY 3 o] AB = 20cm,BC
23cm, AC = 13cm, DE = 3cm
AABD, AADC o] W& 19|
o] & o] g M E oA H& o, CG

o

o goli?

@ 2cm @ 2.3cm ® 3.8cm

@ 4cm ®)5cm

~&B

CG = xcm 2} 5tH

AG =13 -x = AE = AF,

BF =20-(13-x) =7+ x=BH,

DE = DH = DJ = 3(cm)

w2t BC = (74 x) + 3 + 3 + x = 23(cm)

2. x=5(cm)




7. & 23 2ol 9 0 o sk 0ABCD °l A DA % CB ¢
@349 LHE Q. BA 9 CD o AgH BFL P o oAk
/P =37°, /Q=133 % 1, /BCD ] 375 stolet,

\VARR 4
0
it

55 °

B ,

/BCD = x 21! 5tH
LCBP =180°-37° —x =143°—x
£QDC =180° - 33° — x = 147° — x

DABCD 7} 9o Hste=z
143° — x + 147° — x = 180°
290° — 2x = 180°

—2x = —-110°

c.o/Zx = bh°




N N N\
oS 180 A 5.0ptAB = 5.0ptAC = 5.0ptCD, /BPD = 20° < o,
x o] gt-& otoiet.

i) 5.0ptBD ©] 9937to] x o] B /BOD = 2x
ii) ABCP oA /ABC =20° + x° o]B=2
(AOC = 40° 4 2x°
iii) 3(40° + 2x) 4+ 2x = 360°
120° + 8x = 360° Lox=30




